THAFE FREBBEERE(To7r—M#ER

EZEE:69%

F R EAR
A%l
8~10%FKiE 6%
10%
6~8ERH
14%
A~6E R
13%
EGE2)
|
27%

IR

z( @EEL
1 5%

EIN
59%

1/3

Fin L] Fl FH #A RS EBEES
1 107% K i 1 Bt 1 2FE R 1 AN 1 ERES
2 10m% 1t 2 it 2 2F ~ 4K 2 S 2 | &S
3 20i% 1t 3 EESIA 3 A% ~BE R 3 Z D4
4 30:F 1K 4 64 ~8F Kk 4 | [E&LL
5 40i% 1t 5 8E~10EXK
6 505% 1 6 EEAS
7 60% X
8 710
9 80
10 90% AL
11 100/% L E
12 EEAS
E T4 31
905{'; @ﬁfb miﬁfﬁ Iil%nf;l,

so‘ﬁ’gu/i*i .

13 “' wﬁ/:ﬁ irf

7084t ' it

6OREH 0BA -

11% Soﬁ%:{ 3%



1 mEE & BEFALTOASY—ERISHELTOET M ?
2 #E-EAANER = CRELEOEEANFR-WHICOVTOERIITETHETMN?
SEE-FHIF B BEEOERBICHLTREICHIETETCVETN?
1R 2 BE-EAARR JEE-ER

1 mELTLS 1 FBRELTLS 1 LTS

2 | BhBELTVE| 2 [BhEELTLE] 2 |[BhimlTls

3 |EBELELEALLY 3 |EBELEEEALL 3 [EBEBEBEZAL

4 | HFYBRBLTLVEL] 4 | HFEYEELTLVEL] 4 | HFEYRIELTOEL

5 i e L TLMVELY 5 FREL TLVELY 5 ¥t L TLMVELY

6 B &AL 6 EEIAS 6 EELZL

1 5%% BEYBRL TV 2 W?ﬁ"' 'ﬂE A'ﬁ%#& HEYRELTIA

e ﬁil,g%b\fa EEL " ; EE@L; @ﬁfu
BRRELTLS ‘
%hiﬁ}@"l/:fl.\%z 17%
BELTLS
= RELTLS
3EE-EIF HEYRBLTNE
£55)] oL ﬁmof/b @ﬁft
BAABLTIS ‘
HIBLTIS

2/3




4 558
5 Eh AR fE

R BBICOVWTHRLTWETM?
%M SAREBEESTATOET M ?

6 R B Y—ERXRZERITTHREERTETCVEITN?
4 8 5 BB 6 R
1 mELTLS 1 SFNTLNS 1 ERLTLS
? | BhaRlC3]| 2 | BhTh<l s | 2 [BhEELCLE
3 [EBELEELEALL] 3 |EBELEREALLY] 3 [EBEbEBEALL
4 | HFYBELTLVEL] 4 HEYFHTLEL 4 | HFEYEBLTLEL
5 | meLTWEL | 5 SN TLVELY 5 ERMNGL
6 EELZL 6 EELL 6 [EELZL
s 5 $iR9eERS
55 ;ﬁﬂl,ot%t @gn/f;[, e HEYF —*mgﬁ E‘ﬁfb
BRBELTLS ‘ e q
BRLTLS v
6 §ﬂ% E)ib)EL@LTL\H
E%%L—{f %rﬁc @ﬁfb
HOEELTLS
EELTLS

3/3




